Al

E 0l &

A& & Al A

SN SEAD
M HH2AZHI(sFAH)
oelr J12Zl (& A&)
S - F S (EH) - HRAY - BES 0l &b G HImS2
SHAD 36,554,308 30,272,420 6,281,888
= 2,295,803
J| 14,538,490
= 3,505, 161
= 16,214,764
MY 2AHH|(sFLH) 203,714 90,480 113,234
Jl123| 187,514 58,080 129,434
J|=23&Hl 37,480 39,280 21,800
201 Let2ZH| 26,680 33,280 A6,600
01 AtR2elt| 23,080 29,680 26,600
Ogt==H| 10,960
0712 ARSI 100,000 x212! 2,100
OALRI1D| & SAEE 7,000,000 7,000
0J|Et=2H| 1,500, 000& 1,500
gaa ARE 5 7 30,000 x12& 360
O 2| 60,000 *121x118 7,080
O22I(SH4 222X
8,000 *2121x304! 5,040
02 2323l 3,600 3,600 0
ORBRI S 300,000&*12& 3,600
202 Oib| 10,800 6,000 4,800
01 =LHOHI 10,800 6,000 4,800
o&ubl(sSZHI) 180,000 x5 E+12& 10,800
A2 131,234 0 131,234
101 C124t| 31,397 0 31,397
04 JIZtHI22 RS E+ 31,397 0 31,397
O A2 31,397
0l=2 73,28020%101x2582 18,907
0=F=xt==5 73,280 *1Q1x52 3,811
0AX = 73,280 %1Q1x11 807
0HLEE 22,718,000 *3.495% 794
&I RYEE 794,000&+6. 14% 49
0nEEE 22,718,000&*0.9% 205
0ATHEE 22,718,000 *1.0% 228
(SESES == 73,280&*121x00 6,596
201 LBr2ZH| 99,837 0 99,837
01 At22teldl 19,617 0 19,617
ORolZHIEY 820,000 +12& 9,840
Oogstlz 33,0003 12 396
OANdEzX 4228 5 78 350,000&x12& 4,200
OEI|HEAL|THEH =2 110,000 x12& 1,320
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2A: 24D

Ha: SESNSN o Y
ol SAQIASEMY o MEOIHXR (Sho: ®21)
= - — p S
SN - HB - CRI(3H) - HIRAR - BES Of v e HI DS
SESNEA L BYOH 27,046,454 22,515,704 4,530,750
2 661,274
| 13,675, 163
= 2,356,417
2 10,353,600
SQIASEH U MEOIFXR 7,019,939 2,086,319 4,983,620
2 84,204
| 100,000
= 1,591,950
2 5,243,785
SNM U sYAY EX 53,240 44,220 9,020
201 Yur2H| 9,820 9,820 0
01 AFR 2] 9,820 9,820 0
OSMSAEN L ARSI 014
1,2002+1, 00004 1,200
02z 202 AN 1,20024x300=+23] 720
OSYBAAZARA LS| Bl
70,00024%2921+23] 4,060
OSHI(SHAMYDET)  8,00021+621+804) 3,840
202 it 14,400 14,400 0
ENE] 14,400 14,400 0
O EES 20,0002 #6021 122 14,400
203 REZIH| 3,000 3,000 0
03 NEEZELEAL| 3,000 3,000 0
OSZAAIY 2= 3,000, 0002 3,000
301 Y2 FZ 1,000 1,000 0
09 EAFIINI RS 1,000 1,000 0
OSABADT) B4 50,00021+20¢! 1,000
307 RI2H0IH 25,020 16,000 9,020
02 BRIFNAIEEE 25,020 16,000 9,020
Os8| =X X 27,800, 00024 *90% 25,020
=X0IZ2A2IXIRAY 142,857 142,857 0
p] 100,000
2 42,857
101 ©1248] 128,571 32,857 N4,286
| 90,000
2 38,571
04 IRI2ZAS 2+ 128,571 32,857 £4,286
CEINERIET] 128,571
0122 73,0802+1101%1162 93,506
p] 65,454
2 28,052
0FRHE 73,280201121x202 16,122

_729_




2N SEMD
B SESTEN U A0
CH9l: SQIOIASHM U MEBOIEKI (cHel: @)
_ _ poIE [
SA - F L S2A(3H) - HRAY - B2 Ofl Ak oA Gl aron s
Jl 11,285
ik 4,837
0AX = 73,2802 %1101x3 2,419
| 1,693
2 726
02813 109,628,000& *4.5% 4,934
| 3,454
2 1,480
0AHZEE 109,628,000 & +3.495% 3,832
| 2,682
s 1,150
0 RLEH 3,832,000 *6. 14% 236
J| 165
2 71
0nE=H 109,628, 0002+0. 9% 987
| 691
i 296
0AHES 109,628,000&*1.0% 1,097
J| 768
= 329
028 = &t s 5,438,000& 5,438
| 3,808
2 1,630
201 LEt2EH| 14,286 10,000 4,286
Il 10,000
= 4,286
01 At22teldl 14,286 10,000 4,286
OZAME AIRES 712 14,286,000& 14,286
| 10,000
2 4,286
=olol WEHerESHE A 349,549 306,117 43,43
< 66,620
i 282,929
307 gl2tol& 349,549 306, 117 43,432
< 66,620
o 282,929
06 23 349,549 306, 117 43,432
O=I BT 22 349,549, 0002 349,549
= 66,620
o 282,929
SERFH SANANSTESHIT) 154,226 163,080 78,854
= 77,117
= 21,226
i 55,883
307 gl2+old 154,226 163,080 A8,854
= 77,117
= 21,206
i 55,883
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SN SEMD
BE: SESNSH U Y
9l SIOIASEM U MBOIFII (Sr9): &)
- _ _ poIE [
A - ZH - SRA(ZH) - MFAY - BES Ol &bt lOﬂEa—l.’_' HwW&S2
02 SIFBAAEE 154,226 63,080 8,854
OARE 2SH| X(1-8EX)
1,823, 00024501122 *90% 98,442
2 49,205
= 13,130
= 3,087
OARE ZEH| N9
1,823, 00024121+ 122 80% 17,501
2 8,750
= 2,626
= 6,125
OARE ZH| N (OSE)
1,823,00021+ 101122 21,876
2 10,938
= 3,082
2 7,656
OMSF 2SHl 5t X
1,823, 00021121 102 +90% 16,407
2 8,204
= 2,188
z 6,015
SERBEM SHNA(MEAIHHLE ItXI) 8,607 9,585 £978
= 5,737
= 861
2 2,009
307 2120 & 8,607 9,585 ~978
2 5,737
= 861
2 2,009
02 SIIBHAIEE 8,607 9,585 A978
OsENEEA0S 2 X
9,563, 00024 90% 8,607
2 5,737
= 861
2 2,009
N ENERERmEWAE 2,160 2,400 2240
= 1,350
= 243
= 567
307 21201 F 2,160 2,400 N 240
2 1,350
= 243
2 567
02 SIIBAAREE 2,160 2,400 ~240
OXEOIE 2lt 1S X
300, 0002 Q7H A580% 2,160
2 1,350
= 243
2 567
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2A: 24D

™NEH: ==
o= -

SESTSH U HHON
CHel: SRQIASEM U MEOHKS (el &e)
- < - bSEL ~
SN - B SRI(SH) - MRAY - BES Ofl Ak oA O Afon A==l
SENEXN AL & OtSoH&It LHALS 4,800 8,400 23,600
= 1,200
= 3,600
307 QI2to| & 4,800 8,400 23,600
& 1,200
= 3,600
12 QIZ2HOIRIE = H| 4,800 8,400 23,600
OSEHENTA L 0ISHETF QLA
1,500, 0003 *421%80% 4,800
& 1,200
= 3,600
SUASSUHAIE XA 1,700,000 900,000 800,000
402 QIZHRHE0|A 1,700,000 900,000 800,000
01 QIR AISE S AR (REMIA ) 1,700,000 900,000 800,000
O=ZASSUAE 5,000,000&*3400+- 1,700,000
sHESAXRI| P M2YsAE XA 800,000 400,000 400,000
402 QIZERHE0|1 A 800,000 400,000 400,000
01 QIR A B2 (RERITHE) 800,000 400,000 400,000
ORXSAZI| Y NEHTAL X
800, 000,000& 800,000
s0HYel=E XA 3,754,500 0 3,754,500
= 1,501,800
i 2,252,700
201 LEt2 | 73,800 0 73,800
= 29,520
i 44,280
01 AtR2telt| 73,800 0 73,800
OX<YstH a2 73,800,000& 73,800
= 29,520
o 44,280
301 LBIEHZ 3,680,700 0 3,680,700
& 1,472,280
= 2,208,420
12 JIEtE43 3,680,700 0 3,680,700
Os0gel=Y = 3,680,700,000& 3,680,700
& 1,472,280
i 2,208,420
SQIDLE 8oty A I 50,000 0 50,000
307 2I2t01H 50,000 0 50,000
04 DIZIHALAIRE E X 50,000 0 50,000
O=0I0ts stitedaAr XIA 50,000, 000& 50,000
M A SR USROS DA 16,522,564 16,552,964 A30,420
= 2,520
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SN sEND
Y SE=IEE U R0
9l ABASAIHUSIASHH (=EIE-E)
. i - PSEL =
SN - 3 - SRA(SIH) - MRAY - BES Ol kK 0l Ak HwWE2
ORBaE B2 g
5,60021%2,800na*37 . 5E*90% 529,200
OSIA A 1,50024%500ha*3007H 225,000
=L e 3,000 35,000 A1,000
= 6,800
2 27,200
402 DI2EXFR0I & 34,000 35,000 A1,000
= 6,800
- 27,200
02 DI E AT B (01 @ M) 3,000 35,000 AT1,000
OSAIFAIR ZHIXI 50,0002+680KI € 3,000
= 6,800
2 27,200
AT (S01) K 102,000 102,000 0
402 DI2EXFR0I & 102,000 102,000 0
R ENEEES GBI ED 102,000 02,000 0
OFSA=TTH (S0 X
300, 0002 680ha50% 102,000
UM AR 2,250 9,750 AT7,500
402 DI2EXF=0I & 2,250 2,250 0
RN ENEEES GG ED 2,250 2,250 0
OS2/Y XII=EER A
150, 0002 %30hax50% 2,250
DEIRMNCTEY 74,480 79,520 75,040
= 21,280
2 53,200
402 DI2EXFR0I & 74,480 79,520 5,040
= 21,280
2 53,200
02 CIRIRH= AFR 2 Z (01 K 74,480 79,520 ~5,040
ODBIY MACE X4
800, 00021+ 138a70% 74,480
= 21,280
2 53,200
AERHNTXIZH| 3,150 3,150 0
= 2,520
2 630
301 YBEES 3,150 3,150 0
2 2,520
2 630
2 JlEE A 3,150 3,150 0
OZAREEN 450,001+ 7ha 3,150
= 2,520
2 630
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2N sEM
U SESNST L 2Yory
B9 FEESYUSHUSAIASEH (cHl: e)
_ - - MEE =
2 -3 H2A(ZAH) - MRAY - BHES 04| AroH Oil AFou Hlns2
EESASASEFREZ 19,000 42,000 223,000
< 5,700
= 13,300
301 LEEAZ 19,000 42,000 23,000
[= 5,700
= 13,300
12 JIEtB A 19,000 42,000 223,000
OEESASRERAL 2,000,000*9.5ha 19,000
[= 5,700
= 13,300
H MBSOt H ot X =2 1,113,713 1,113,713 0
[= 334,114
= 779,599
301 LErEEZ 1,113,713 1,113,713 0
[= 334,114
= 779,599
12 JIEI2 A2 1,113,713 1,113,713 0
OH THHHsDF 2ot X1=(3,093ha)
1,113,713,000 1,113,713
[= 334,114
= 779,599
H ol ZsUH S22 s I 144,000 140,000 4,000
[= 43,200
= 100,800
307 IZH0| A 144,000 140,000 4,000
[ 43,200
= 100,800
02 DIZIHAAI 2 X 144,000 140,000 4,000
OH BolE 2SS s X2
120,0002*1,200ha 144,000
[= 43,200
= 100,800
H Hols == XY 574,200 482,200 92,000
307 120 A 574,200 482,200 92,000
02 DIZIHAAI B X 574,200 482,200 92,000
Ot 24 MelM XRAMS (RIXHSAIY)
195,000 %2, 800hax70% 382,200
OH gills 2=y 2 XK (2R
120,000 *1,600ha 192,000
B XOF +=25& AIR(XIXH g2EAIY-58) 78,000 0 78,000
402 RIZHX=0|H 78,000 0 78,000
01 BIZHAH2 AL B X (KHHITHE) 78,000 0 78,000
OH TPt=2 =2 XA 78,000,000 78,000
Jls THEHERX] K| 50,960 49,280 1,680
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2A: 24D

Hu: =E=NET Y YO
el RBYSASHUSHASBH (Sr9: &)
. i - PSEL =
A - ZH - SRA(ZH) - MFAY - BES Ol &bt 0l Ak HnS2
= 2,560
2 3,400
402 RIRIXHZOIF 50,960 49,280 1,680
= 14,560
2 36,400
RN EEES(EIED) 50,960 49,280 1,680
OJIS&% THHEIK X4 800,00021%91has70% 50,960
< 14,560
2 3,400
ABFSAS0IZS S KIS 140,000 80,000 60,000
301 LBBHS 140,000 80,000 60,000
2 JIEr2aE 140,000 80,000 60,000
OHBPLUZH4E N 140,000, 0002 140,000
= EIXE2 T 3,400 457,090 £420,690
= 10,833
2 25,567
301 LBBFI 36,400 457,090 £420,690
< 0,833
2 25,567
2 JIErRaE 3,400 457,090 420,690
Ok EFESTHH X2 400,00024+9 Tha 36,400
< 10,833
2 25,567
S AT PRI 10,000 0 10,000
= 2,000
2 8,000
402 RIRIXHZOIF 0,000 0 10,000
= 2,000
2 8,000
02 BRIIE A 2 (01 R THR) 0,000 0 0,000
OSX &I 28 X
20,000, 00024 1CH<50% 10,000
= 2,000
2 8,000
MY RELMSE N 104,208 104,208 0
= 29,773
2 74,435
402 DIEXH=0IF 104,208 104,208 0
= 29,773
2 74,435
02 CIRIRI= AT 2 Z (01K 104,208 104,208 0
OXEY=Y RS XA
148,868, 00024+70% 104,208
= 29,773
2 74,435
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SN SEAD
MM =ESTEE Y FHOH
B9 MEASASHUSALSEH (=E R EN)
- _ _ poIE [
SA - HB . CRI(E) - HIRAY - B2 0f &b e HIDS2t
TN =HBEAY| 70,163 70,163 0
ol 70,163
101 QI21H] 41,911 41,911 0
ol 41,911
04 DR 2R RS P4 41,911 41,911 0
ONEX ALLE(1191) 41,911
0l=2 73,2802+1101+392 31,438
ol 31,438
0FRAg 73,2802+ 110148 6,449
| 6,449
0201013 37,867,00024+4 5% 1,705
p] 1,705
02122 37,867,00021+3.495% 1,325
I 1,325
0Z)| Qe 1,325,00024+6. 14% 82
ol 82
N 37,867,00024+0. 9% 31
I U1
IOUEE 37,867,00024%1.0% 379
p] 379
0FER B S 192,0002 192
I 192
201 L2 y| 15,252 15,252 0
p] 15,252
01 AFR 2| 15,252 15,250 0
OBARIZEI2Y U B2yl 15,252,0002 15,252
ol 15,252
202 04| 13,000 13,000 0
p] 13,000
01 =LROIH] 13,000 13,000 0
OZER 2 13,000,002 13,000
p] 13,000
128 BT ZAY 12,845,000 12,845,000 0
p] 12,845,000
301 LUHEHZ 12,845,000 12,845,000 0
I 12,845,000
12 JIErEaa 12,845,000 12,845,000 0
OJI28 ZONFNSAR  12,845,000,0002 12,845,000
I 12,845,000
AZFMA OISR HIXIH A 60,000 0 60,000
= 18,000
2 42,000
402 212201 60,000 0 60,000
= 18,000
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2N sEM
U SESNST L 2Yory
B9 FEESYUSHUSAIASEH (cHl: e)
_ - MEE =
2 -3 H2A(ZAH) - MRAY - BHES 04| AroH O“ﬂ,qou Hns2
= 42000
02 BIEXF=2AFHE R (0| M TH) 60,000 0 60,000
OQAlzfMiAl CH2 X Z DX AY
120,000, 0002 %170 A%50% 60,000
[= 18,000
= 42,000
S HSHSHUSHOASEN 3,503,951 3,876,401 A372,450
= 574,550
] 660,000
(= 278,207
= 1,991,194
FetH=AHEE 260,000 260,000 0
] 260,000
301 LEEHZ 260,000 260,000 0
] 260,000
12 JIEB A2 260,000 260,000 0
Orlstd=s MEX=SAFE (573ha)
260,000,000 260,000
] 260,000
E2HEH X 809,000 419,000 390,000
= 545,000
[= 132,000
= 132,000
402 QIZHX=0|H 809,000 419,000 390,000
= 545,000
[= 132,000
= 132,000
02 DIZIXI=E AN B X (0| F L) 809,000 419,000 390,000
OELNSM XA (4,5008) 809,000,000 809,000
= 545,000
[= 132,000
z 132,000
SIIEHIZ X (HEA) 1,500,000 2,083,950 583,950
402 DIZERHR0IN 1,500,000 2,083,950 583,950
01 QIEXF=2 AFA E R (XHHITH) 1,500,000 0 1,500,000
OSIIZHISKIRAI (FHEAIS)
1,500,000, 0004 1,500,000
P MAX|RIALY 21,560 21,560 0
[~ 6,160
= 15,400
402 DIZERHR0IA 21,560 21,560 0
[ 6,160
= 15,400
02 SIZIHKH=2 AL B (0| M THL) 21,560 21,560 0
ORC| LA ALK R ALY 360, 0002 *30ha*70% 7,560
[~ 2,160
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SN SEMD
B Y FYBNS MADIUEY
CHel: HA2 FW 2st (Sr9): &)
. i - PSEL =
A - ZH - SRA(ZH) - MFAY - BES Ol &bt 0l Ak HnS2
= 2,160
ik 8,640
307 gl2told 10,800 4,250 6,550
& 2,160
2 8,640
02 SIFE SN EE 10,800 4,250 6,550
OR4 42 5 XA
800,000 & *27= I H+50% 10,800
= 2,160
= 8,640
SIRAMASH 11,500 16,000 A4,500
T 2,300
i 9,200
307 212+0/H 11,500 16,000 24,500
= 2,300
i 9,200
02 RIZHEaANEE X 11,500 16,000 A4,500
0¥ 819 DETUCS S
11,500,000& 11,500
= 2,300
i 9,200
SIRSEAL 37,800 34,800 3,000
= 7,200
i 30,600
307 QI2to| ™ 37,800 34,800 3,000
= 7,200
[ia 30,600
02 QIIHAAMHES 37,800 34,800 3,000
OetRSEAMY 6,000&*6,3005 37,800
= 7,200
2 30,600
SO0HK| Aot SFatArS 8,300 8,299 1
= 2,766
z 5,534
402 2I2EXH20(1 M 8,300 8,299 1
= 2,766
2 5,534
02 DIZEXHE AL 2 (0| X THEA) 8,300 8,299 1
OB MAHs SHAAIRS  14,00021+9885+60% 8,300
& 2,766
i 5,534
LA FHE0IA XA 76,000 57,000 19,000
Il 11,200
< 11,200
2 53,600
402 212EXH201 M 76,000 57,000 19,000
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m
10
P
40

- Z - ()

* AISALS

- paS

rx
12

HEE

[l

Ofl &2k

] S

0

J

M

11,200
11,200
53,600

02 QIEXEAIE E (01X TH)

Oy +FB0I4 KA

76,000,000

(.|

M

76,000

76,000
11,200
11,200
53,600

57,000

19,000

M

15,000

3,000
12,000

15,000

307 212+01A

M

15,000

3,000
12,000

15,000

15,000,000&

M

15,000

15,000

3,000
12,000

15,000

M

33,000

6,600
26,400

30,000

3,000

307 2I12+0IA

M

33,000

6,600
26,400

30,000

3,000

110, 0003 %221%300 2 *50%

M

33,000

33,000

6,600
26,400

30,000

3,000

M H

9,432

1,692
7,740

12,659

N3,227

307 g12+ol&

H

9,432

1,692
7,740

12,659

N3,227

9,432,000

M

9,432

9,432

1,692
7,740

12,659

N3,227

J

M

72,000

43,200
8,640
20,160

93,632

A21,632

307 2I12+0I1A

(|

M

72,000

43,200
8,640
20,160

93,632

A21,632
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D AEY BHSAS MAD|BIEY
Sl BAE M U (B9l =)
. i - PSEL =
A - ZH - SRA(ZH) - MFAY - BES Ol &bt 0l Ak HnS2
02 IFFSAIIEE 72,000 93,632 121,632
OSNSRBAXIAAIY
480I*60021+2502 * 100% 72,000
p] 43,200
= 8,640
= 20, 160
bE HAE Heldl X 30,000 0 30,000
= 6,000
2 24,000
402 QIREXH=0IH 30,000 0 30,000
= 6,000
2 24,000
02 BIRIFEAE 2 E (01 &) 30,000 0 30,000
OJt& HASHRID| &% X
30,000, 00024 +2CH+50% 30,000
= 6,000
2 24,000
ISIEEENE 24,000 50,000 26,000
= 9,000
2 15,000
402 QI2EXH=0|H 24,000 50,000 26,000
= 9,000
2 15,000
02 BIIKFEAE X (OIE TR ) 24,000 50,000 26,000
OAZ2E 012 JIIZE 43S AlY
30,000, 00024+ 1§ 2+80% 24,000
= 9,000
2 15,000
A A (XHH) 1,168,615 906,375 262,240
307 Q1240 & 320,440 226,600 93,840
02 BIRIZ A EE 320,440 226,600 93,840
OBt FIRIEQIAIS 40,000, 000! 40,000
OBNZ HEYAIY 30,000,000 30,000
OBt YAATAIS 25,0002 1,0005+80% 20,000
OB HIAK! 30, 0002 %3805 +60% 6,840
OllE? =)t SBALY 242 XA
600, 00024 * 125 I H+50% 3,600
OTWRALE R X2 2202300, 0000H+50% 33,000
OBl AFEXZ WHEK X4 2A0Z X
50,000,000 50,000
ORIIB? ZZMW XF 2002500, 0007H50% 50,000
OZB BRI KA 3602450, 0000H+50% 81,000
ORERE MAHSIH L XIRIAK
1,00024 12, 00004+50% 6,000
402 QI2EXH0|H 848, 175 679,775 168,400
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H: ZEH FPIAS MAD|PHEY
Cel: Hag AW A5 (Ere: HE)
- - - dEE =
2 -3 H2A(ZAH) - MRAY - BHES O] AkoH Gij Ak o Hns2
01 SIZHAHEAIA B X (KHHITHE) 848,175 679,775 168,400
OTMRAIZ. PUH|I 2E ALY 4021%5,000,000kg 200,000
OFE AMHTIRAHY UW FRIALY
94,000,000 94,000
OB 2MBAS 50,0005, 0005*20% 50,000
O153 SHEUXIJAAIY
10,00024%10, 0005*50% 50,000
O1NEE &2 M M lHzEs XN
12,0002!%3,0007H*80% 28,800
OLHE U=ZAY U =X 100,000,000 100,000
O2L2=It SHEME XA
8,000 %62, 000kg*50% 248,000
OSHSIH SAIBZIMAAIS (BHED] 2)
21,200,000 %50% 10,600
ORASI QEHW 1|
40,0004 %1, 100H*50% 22,000
ORASI SAEZINL AL (CHEE)
2,970,000 % 15CH*50% 22,275
OO0IE02 =2&(=3) I 3R)| KR A
5,000, 00024 %51 Ax90% 22,500
ZASIE AFZEIH XIS 6,000 13,446 N7,446
[= 1,200
= 4,800
402 RIZHRH=0|H 6,000 13,446 AT, 446
< 1,200
= 4,800
02 BIZHRH= AL B X (01X THE) 6,000 13,446 N7 ,446
OZ=AsI A2 E IR KR A 6,000,000 6,000
[= 1,200
= 4,800
IS MM ShAMALY 4,000 5,100 A1,100
[~ 800
= 3,200
402 RIZHRHR0|A 4,000 5,100 A1,100
[= 800
= 3,200
02 BIZIHH=2 AL B X (0| M THL) 4,000 5,100 21,100
OAI XHEH QIALERE X 802%100, 000H*50% 4,000
[= 800
= 3,200
SEFA MA J|BIRS 10,000 11,400 A1,400
[= 2,000
= 8,000
307 BI2H0| A 10,000 11,400 A1,400
[= 2,000
= 8,000
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A SEAD
M ZEY FIINS MAD|BEY
S9: EAEA J|PIEH (=E LD
_ _ NEE =
SN - 3 - SRA(SIH) - MRAY - BES Ol &bt 0l Ak HnS2
SEEREEIVERTEESS
150, 00024+201 82 2,400
301 LBHRFI 12,400 10,400 2,000
09 EAALINZS 2,400 10,400 2,000
OFMAY DS L BItal B4
30,00024#4091+25] 2,400
OZArsIt 2 BIDAS  250,00024%8021+50% 10,000
N EESTVEpN 194,880 63,300 131,580
= 38,976
2 155,904
402 RIRHRH0I 194,880 63,300 131,580
= 38,976
2 155,904
02 DIRITZ AN B E (01 @ TR 194,880 63,300 131,580
OLZAADEIHA ALY 194,880,0002! 194,880
= 38,976
2 155,904
S ENEREEY, 215,567 102,874 112,693
307 BI2F0IF 195,567 82,874 112,693
VA= ONEEES 195,567 82,874 112,693
OSII=E RIINE HARH
1,955, 67021250+ 40% 195,567
402 RIRHRH=0IH 20,000 20,000 0
01 DIRFXFE AR B = (XA 20,000 20,000 0
OSIIBME FAIR MA X9
20021200, 000kg*50% 20,000
= ATHH AR A 310,000 310,000 0
= 17,000
2 293,000
307 LI2t0IF 310,000 310,000 0
= 17,000
2 293,000
IO EES 310,000 310,000 0
OJt= MAH=E KIRA 310,000, 00024 310,000
= 17,000
2 293,000
ZAAA BEIHE AL 7,200 7,500 A300
= 1,440
2 5,760
402 QI2HXHZ0IH 7,200 7,500 A300
= 1,440
2 5,760
02 R EAEEE (OIE M) 7,200 7,500 A300
ZAPAA BANS KR 600,000 %24TH+E0% 7,200
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SN SELD
|

X XH -
o= -

2 BIEMS MAD|H
ool FERZA JIBEY (cHel: @)
3 _ _ NET -
SA - F L S2A(3H) - HRAY - B2 Ofl kol oo AImE=ST
= 1,440
= 5,760
SHASOHME 35,840 40,320 A4,480
| 15,360
= 4,608
i 15,872
307 BI2H0| A 35,840 40,320 4,480
| 15,360
& 4,608
o 15,872
02 QIZHH&AHE X 35,840 40,320 A4,480
Ot SOME X 320,000 *16021*70% 35,840
| 15,360
& 4,608
2 15,872
e EEVEE 73,900 24,000 49,900
307 QI2to| & 24,000 24,000 0
02 QIZHE AN HE X 24,000 24,000 0
OSSO0t XA 300, 0002 *16021%50% 24,000
401 AIEHIZL 01| 30,000 0 30,000
01 Al&HI 30,000 0 30,000
OS0EAE fR2 30,000,000 30,000
405 XS4 19,900 0 19,900
01 TR EEFSHI 19,900 0 19,900
OSOIRE 7e(2 2 113)
19,900,000 *100% 19,900
E6F L0 AL X2 70,000 0,000 60,000
307 212¢0IH 70,000 0,000 60,000
04 QIZFEIAAIR B 70,000 0,000 60,000
OSAHeH EII>A XA 25,0003 +80021+50% 10,000
OttE 2=t HAILNEl K& 60,000,000 60,000
ENY=- PN 838, 167 837,000 1,167
| 286,643
= 139,657
i 411,867
101 C1244| 16,000 0 16,000
| 8,000
& 2,400
= 5,600
04 D122 RS ES 16,000 0 16,000
OZXAlz SE 22 16,000
0122 73,28021%101% 1602 1,725
| 5,862
& 1,759
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SN SEND
M HE HESANS MADIBES
S9: EAEA J|PIEH (=E R EN)
. PSIE | =
SA - B GRA(S) - NIRAY - B82S Ol kK 0l Ak HwWE2
= 7704
0F=Rtag 73,2802+ 1014322 2,345
I 1,173
= 352
2 820
091X}t 73,2802+ 101152 367
I 184
= 55
2 128
OABXIRE ALIRER S 1,563,002 1,563
I 781
= 234
2 548
307 2I12HOI 822, 167 837,000 A14,833
p] 278,643
= 137,257
2 406,267
02 S HAIEE 822, 167 837,000 A14,833
OZALZMAE At2IX| HZH| X9
60,0002+ 14,333, 32E+90% 774,000
ol 258,000
= 129,000
2 387,000
OZA2MAE EX7UH X
200, 00024344 . 05ha70% 48,167
ol 20,643
& 8,257
2 19,267
ZAE 2R AL L DR 176,800 150,000 26,800
ol 44,200
= 39,780
2 92,820
402 Q124201 176,800 150,000 26,800
p] 44,200
= 39,780
2 92,820
02 IZHI= A B E (O1E ) 176,800 150,000 26,800
OFAZMAE JIHZH 72 K2
176,800, 00024 176,800
ol 44,200
= 39,780
2 92,820
B ALY XA 48,640 19,500 29,140
= 9,728
2 38,912
402 QI2HXH=0| 48,640 19,500 29,140
= 9,728
2 38,912
02 = A EE (O1E M) 48,640 19,500 29,140
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SN RN
Hu: Y FHINS MADIUEY
CHol: RISYZA DIBEA (=EIE-E)
. PSIE | =
SN - 3 - SRA(SIH) - MRAY - BES Ol kK 0l Ak HwWE2
OFEa 22 A NAAL 48,640,000 48,640
= 9,728
2 38,912
S20F ZHLSNAAY 4,000 0 4,000
p 2,000
= 600
2 1,400
307 RI2H0IH 4,000 0 4,000
p 2,000
= 600
2 1,400
02 ERIFNAIEEE 4,000 0 4,000
OSSO0t ZHLBIAY 5,000,0002 1 F+60% 4,000
b 2,000
= 600
2 1,400
ALBTAE P KIRAS 5,837 0 5,837
= 1,167
2 4,670
402 QI2EXFR0I & 5,837 0 5,837
= 1,167
2 4,670
R ENEEES GBI ED 5,837 0 5,837
OUSBEAE 7Y MHAI
13, 0002+898 E#50% 5,837
= 1,167
2 4,670
Yz AslE TE)| 1UX 12,500 0 12,500
= 2,500
2 10,000
402 DIEXFROI & 12,500 0 12,500
= 2,500
2 10,000
01 DIRIXTE AN B (XM 12,500 0 12,500
Ogz ASly TFD| 2 UY 12,500,000 12,500
= 2,500
2 10,000
a2 = 2ast 90,000 0 90,000
p] 90,000
402 DIEXFZ0I & 90,000 0 90,000
p] 9,000
02 DI E AT B (01 @ M) 90,000 0 90,000
OZMSEIY E43F NRAY 90,000,000 90,000
p] 90,000
401 2ate 28 2 22 386,078 181,353 204,725
2 14,000
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A SEAD
M FEY HIINS MADIBEY
©9l: LH4D! 20T ES 2 22 (=E LD
. i - PSEL =
SN - 3 - SRA(SIH) - MRAY - BES Ol kK 0l Ak HwWE2
= 104, 400
2 137,678
TESSTEECIEE LTSS 39,078 37,853 1,225
101 Q1218 33,078 31,853 1,225
IEIy [EEJVL=ES 33,078 31,853 1,225
o202 Haen 33,078
0123 73,28021%301% 110 24,183
0FR4E 73,28021%301+232 5,067
021 XH4E 73,28024+301x42) 880
0=eI0i3 29,240,0002/+4 5% 1,316
02228 29,240, 00024+3.495% 1,022
0Z)| Qe 1,022,00024+6. 14% 63
N 29,240,00024+0. 9% 264
WOV 29,240,00024+1.0% 293
201 LBr2| 6,000 6,000 0
01 AR 22l 6,000 6,000 0
OZH0IZ3X 222 140 1,0002+1,000% 1,000
OSHOZIX &40 & U2HB M
1,000, 0002570 4 5,000
SAEOHYLR(ME) (HEA) 150,000 140,000 10,000
= 90,000
2 60,000
206 M2 150,000 140,000 10,000
= 90,000
2 60,000
01 M=l 150,000 140,000 0,000
O=MET MY LR(HE) 150,000,0002! 150,000
= 90,000
2 60,000
L0t AFRA| 2 5,000 3,500 1,500
401 A&HIL 208 5,000 3,500 1,500
01 AlZH] 5,000 3,500 1,500
OSACIZI AR SXIEE ZUILR S
5,000, 00024 5,000
A UK 22 192,000 0 192,000
= 14,000
= 14,400
2 33,600
308 XHXISHHISOIH 192,000 0 192,000
= 144,000
= 14,400
2 33,600
11 2 S HE E A E P A 192,000 0 192,000
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A SEAD
Ha: e FHEANS MAD|BIEY
SRl L0 SR £ 2 22l (Sr9: &)
- _ _ S
A - ZH - SRA(ZH) - MFAY - BES Ol &bt 0l Ak HnS2
SREEN ERIEENE
120,000, 0002 %2CH+80% 192,000
2 14,000
= 14,400
2 33,600
Rioizghs o 2 5t 732,633 611,220 121,413
p] 140,250
= 69,375
2 523,008
EN2L s 125,690 1,200 124,490
301 LBHRFI 5,820 1,200 4,620
09 EAALINZS 1,200 1,200 0
ONIE2LHLE &4 20,0002x2001%33] 1,200
12 JIEtR A3 4,620 0 4,620
OJIE2E 22T 2AHIS X2
30,8002+ 15050 4,620
402 RIEXHZOIF 119,870 0 119,870
01 DIRFAFE AR B (XHITHE) 119,870 0 119,870
OFAHSIF QS RINS AL (XHH)
5,00020 12, 000kg*50% 30,000
O=AHSIH 22XET KA (XH)
190, 000+315E50% 29,925
OZEZEHIRSHE WYsIt 22XET N2
190, 0002 +631 =+50% 59,945
IIEE LY A T X 220,500 297,500 AT7,000
p] 110,250
= 33,075
[ia 77,175
307 RI2H0IH 220,500 297,500 AT7,000
p] 110,250
= 33,075
i 77,175
02 BIRIBHAIEE 220,500 297,500 AT7,000
OJIERYE 4y|AEY| X
350, 0002/ *630ha 100% 220,500
p] 110,250
< 33,075
2 77,175
=2 ElHA Ty X 20,000 40,000 220,000
p] 10,000
= 3,000
= 7,000
307 RI2H0I 20,000 40,000 220,000
p] 10,000
= 3,000
2 7,000
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SN SEMD
Ha: FHEY FFEAS MAD|BIEY
ol Xoiehseie s (Sr9): &)
. i - PSEL =
A - ZH - SRA(ZH) - MFAY - BES Ol &bt 0l Ak HnS2
02 SIFBAAEE 20,000 40,000 220,000
OJI=E2%: SHIAEY X
200,000+ 100hax100% 20,000
p] 10,000
= 3,000
2 7,000
=R Eloys X 40,000 0 40,000
p] 20,000
= 6,000
2 14,000
402 RIZER=0|H 40,000 0 40,000
p] 20,000
= 6,000
2 14,000
CIEDENEEES GFEIED 40,000 0 40,000
OJIESE &5 X
25,000, 0002 #47H A %40% 40,000
| 20,000
= 6,000
2 14,000
=S =P 121,500 232,520 A111,020
= 24,300
2 97,200
402 RIRERH=01H 121,500 232,520 A111,000
= 24,300
2 97,200
02 CITIFEARE B (01E ) 121,500 232,520 AT11,020
OBAHsIt F YR A
5,00024%22, 000kg+50% 55,000
= 11,000
= 44,000
OF4HIt 22 XHT KA
190, 00024700 E+50% 66,500
= 13,300
2 53,200
=L HeIAL2 YT 189,943 40,000 149,943
301 YPEHZ 20,000 0 20,000
12 JIEr2AS 20,000 0 20,000
OZ2EHIRSHE AUHLE 24 U 25E
2UEHY X 20,00024+1,00024 20,000
402 RIRHR 20| 169,943 40,000 129,943
01 CIRIRH= AP 2 2 (RHAITH ) 169,943 40,000 129,943
OZSE|HISSHE SHZEW 2 X
27521+226, 90501+50%18, 800212, 000 4+50% 40,000
OSZEHIRSHE AHLHM 2 X
55,00024+1,000kg+50% 29,975
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B FEE BEEAS MAD|BIEA
CHol: TolaHs el as (=EIE-E)
- _ _ S
SN - 3 - SRA(SIH) - MRAY - BES Ol &bt 0l Ak HIwSZ
OZSTUIRENE F=220 72 A9
176,000 *1, 136 =+50% 99,968
NE2 el KIZ A (S XA 15,000 0 15,000
T 3,000
i 12,000
402 DI2EXFR0| & 15,000 0 15,000
= 3,000
o 12,000
02 QIZEXHEAIH 2 (01X THRA) 15,000 0 15,000
OJE2ElbIHl A=Y N
30,000, 0002 *1IH A *50% 15,000
< 3,000
2 12,000
I=EE & SHEM 552,352 460,875 91,477
= 8,550
| 21,723
= 46,267
o 475,812
N=EHGHIEUHHFA 115,840 107,920 7,920
201 LBt2d| 5,720 5,720 0
01 AFR2iaH] 4,520 4,520 0
OYAIIER HH 1,000&*2,000& 2,000
OJtsg9gols &Y 70,0003 +921%43] 2,520
02 2222l 1,200 1,200 0
O3 &oi2E It 200,000& 62! 1,200
206 M=z 4| 40,600 40,600 0
01 M=Hl 40,600 40,600 0
OISHES AHE WR2PY 5,600
HRIESHE ¢ 12,0003 *300MI E 3,600
OAHE OF2tAl tE el 10,00024+50% 500
OH=SHMlE HIE 50,000&*30A 1,500
O=HsY & AN 2 20,000&*1,5002] 30,000
OJisggs 2y 5,000& 5021203 5,000
301 LBHFES 69,520 61,600 7,920
2 JlErE A 69,520 61,600 7,920
OIIBHESE AHE MAHIE X 22,000
oEHIZU=Z 220,000& %1024 2,200
oxter 2= 70,0003 %2024 1,400
0= 2IF 70,0002 %221%1024 1,400
0QFEfAL & ZH0t| 100, 000& *2024 2,000
Y HIZ 300, 000&*5024 15,000
OMESMERHE 29 N
15,0003 2,4003] 36,000
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2M: sF&}
B FSH HEENS MAD|UEA
ciel: JIETY U BA29M (ol @)
SA - BB SRI(E) - KIRAY - BES of v G HIREZ
OAII01= M ME= HERH K&
9,600 *1,2005 11,520
=2 =g 79,200 79,200 0
= 23,760
T 55,440
301 LeEHS 79,200 79,200 0
< 23,760
T 55,440
12 JIEtE o= 79,200 79,200 0
O3==2 £=g(62!) 1,100,000 621128 79,200
= 23,760
[ia 55,440
IIEALHRFA 211,810 201,970 9,840
201 24| 17,910 16,070 1,840
01 A= 2ald] 17,910 16,070 1,840
Oget=ZH] 2,210
=gy 221z RS 100& 10, 0000H 1,000
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2N SEAD
BE: FMASE G EX
ool FMESE U H=HE 588 (cHel: @)
3 _ _ NET
S - ZE - SRI(S1) - HRAY - BAS 03] b0t Sl xio0 HIRE2
SEUZTHSENE (sE0E MHIAMNDR) 6,000 6,000 0
= 3,000
= 900
s 2,100
201 k2| 6,000 6,000 0
2 3,000
= 900
= 2,100
03 HAr2EH| 6,000 6,000 0
O=sZEUYMHIA MR 6,000,000& 6,000
= 3,000
= 900
2 2,100
sHBH RSFEX E=SAME 56,436 56,436 0
< 11,326
i 45,110
201 2| 56,436 56,436 0
= 11,326
[ia 45,110
01 At2teld| 56,436 56,436 0
OBIRs0{RIAS K 7,0002+5795 %128 48,636
= 9,761
i 38,875
Ogt=s3dE X 5,000&*1302+12& 7,800
= 1,565
i 6,235
FD=sHBINME ws X 18,538 21,658 A3,120
= 9,269
2 9,269
307 212H0I & 18,538 21,658 A3, 120
= 9,269
= 9,269
02 QIHHAMHES 18,538 21,658 23,120
O D=AAATLE DK N
1,426,000&*13¢! 18,538
= 9,269
i 9,269
SIS0l XA 10,710 13,770 23,060
= 2,520
i 8,190
301 LEIBES 10,710 13,770 A3,060
& 2,520
= 8,190
01 Atle|BEE 253 10,710 13,770 23,060
OsHIt==0l XA 70,0003 90 #201%85% 10,710
< 2,520
2 8,190
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SA: ESEAD

M%) @AsE ges £X
col: BAZE Y A== 58 (29l @2)
) _ - HEC -
SA - B GRA(S) - NIRAY - B82S Oif &K 0l Ak Hns2
&=l B XI2AE 201,760 190,320 11,440
< 75,660
o 126,100
301 LEEEZ 201,760 190,320 11,440
= 75,660
z 126,100
12 JIEt2 43 201,760 190,320 11,440
OO0 =l BIeH N
130,000 *1,94091%80% 201,760
T 75,660
= 126, 100
=v)| DI22E 2AAY %, 250 98,000 A5.750
= 23,605
2 63,625
307 BIRH0IE %250 %.000 25,750
< 23,625
= 68,625
02 BIMAAAAE S 92,250 93,000 A5, 750
Os#I| Bi2Rs3A T
2,250,000&*41JH A 92,250
< 23,625
= 68,625
seEYol SAX 53,960 13,980 10,000
301 YeEEZ 33,980 32,480 1,500
09 HAAHIXIREZ 32,580 31,080 1,500
O=LBLA(ZY, THA)BA L DT 4
7,000,000 7,000
O=ei20l Se=sl IHDS
280,000 x111=H 3,080
OOIMSRI0(EY, TERA)BA & DT 24
7,000,000 7,000
O =50 =g02 s 2,000,000& 2,000
OWd=d0 2= TS 4,000,000& 4,000
O=2AAY P40 BROEE
8,000,000 8,000
OUREHSAZL0 DR 1,500,000 1,500
12 JIEtE2 43 1,400 1,400 0
O=2A2A0 NSHFHl AL
1,400,000&*14] 1,400
307 2I2H0| A 20,000 11,500 8,500
04 DIZHFHAIAIH ST 20,000 11,500 8,500
O=gZ 02l IIEXNEUE 15,000,000 13| 15,000
OSNAHIN 28 SME BE S2UA
5,000,000&*12] 5,000
s83Z0ol NY9uURKIH 21,000 14,000 7,000
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2N SEAD
BE: FMASE G EX
9l FASE U ASHE 583 (=EIE-E)
. i - PSEL =
SN - 3 - SRA(SIH) - MRAY - BES Ol &bt 0l Ak HwWE2
307 Sl2+ol& 21,000 14,000 7,000
04 BIZFHAAIHE X 21,000 14,000 7,000
O2sE(gY) *3UR 4,000,000 13l 4,000
OS0! 12 MK HAEDL
7,000,000&*13] 7,000
Osei2gel 2AL sl SAED)
10,000,0002+13l 10,000
S0I5| SiZAs NRAY 6,740 0 6,740
301 LEIBES 1,740 0 1,740
09 SAIAHIXIAZ 1,740 0 1,740
O=0l3] AN & WsEA 1,740,000& 1,740
307 212H0I & 5,000 0 5,000
RITEEPONEES 5,000 0 5,000
Ostlsl Aedst W= 5,000,000& 5,000
Y =0l SsFE X 263,200 245,074 18,126
= 182,440
< 24,228
i 56,532
201 LEt2 | 9,000 5,214 3,786
= 4,500
= 1,350
i 3,150
01 At22teld| 9,000 5,214 3,786
OFEEZR=s dY 23| 9,000,000& 9,000
= 4,500
= 1,350
[ias 3,150
307 212H0I & 254,200 238,800 15,400
2 177,940
= 22,878
i 53,382
02 QIHHAMNHES 254,200 238,800 15,400
OFE=l=s I3 & 254,200,000& 254,200
= 177,940
< 22,878
o 53,382
ETEPTIET 60,000 0 60,000
= 18,000
i 42,000
307 gl2+o|& 60,000 0 60,000
= 18,000
i 42,000
02 BIMABAAHES 60,000 0 60,000
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Hal: MA=E BRis =X
oo E o AsA= 588 (Sr9: &)
- < - bSEL ~
A - B SR(ZH) - MISAY - BES Ol &bt 0l Ak HnS2
SRR =Y
1,000,00024%501% 128 60,000
= 18,000
2 42,000
ALE NAAY 42,000 42,000 0
2 18,000
= 9,000
2 15,000
307 2120 F 42,000 42,000 0
2 18,000
= 9,000
2 15,000
REEFONCEES 42,000 42,000 0
OsPBAEY KA
30,000, 000242 7H A70% 42,000
2 18,000
= 9,000
2 15,000
Sl MOyl K 35,000 0 35,000
= 10,000
2 25,000
402 QIXF=0IF 35,000 0 35,000
= 0,000
2 25,000
RN EESGIFSHUED 35,000 0 3,000
OS0! S&Y HolZY| X
500,000+ 100CH*70% 35,000
= 10,000
2 25,000
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H £ 0l & A E M A

r
>
it
o
i
[
r
S
oy
I
18
fon
=
[
10
o
0

S - - SRIEH) - MIRAR - BaS e G HI DS
=4kt 7,208,042 5,626,321 1,581,721
sESISM ¥ e 7,140,000 5,580,000 1,560,000

SHASKZANS (SHLHIISSESIH) 7,140,000 5,580,000 1,560,000

SHASSHAIY 7,140,000 5,580,000 1,560,000

501 EXt= 7,140,000 5,580,000 1,560,000

01 eI2ts k= 7,140,000 5,580,000 1,560,000
Osgedliz sMIAAE  7,140,000,000& 7,140,000

oliglsl 68,042 46,321 21,721

HHH(sZLEIIZEE3IH) 68,042 46,321 21,721

Glfala] 68,042 46,321 21,721

801 Ol 68,042 46,321 21,721

01 BHoiibIY] 68,042 46,321 21,721
OsHLHIISSAAE GBI 68,042,000& 68,042
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